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39- We went to the theater early and ..... that we all got seats.
1) Certain 2) urgent 3) absolute 4) patient

40- The greatest advantage of this school isit’s divector ship.
advantage means.........

1)service 2) Property
41- Which of them iswrong?
Sheislearning English at the evening classes for morethan
three months.

3) diplomacy  4) benefit

1)islearning 2) at 3) for 4) morethan
42- You haveto bemore.............. if you want to be a good
teacher.

1) ignorant 2) offensive 3) patient 4) civilized

43- Don’t worry about them. They will travel under the..... of
anumber of soldiers.

1) protect 2) protection

3) protective 4) prote ctively
44-“|n some cities we usually have a light fall of snow in
Azar.” In which of the following sentences does dight» have
the same meaning?

1) The sun gives off light and heat

2) The light bulbs made the city glow

3) Thes light Jacket is not suitable for cold weather

4) Please turn on the light
45- My friend, Parviz,............ on thisdifficult problem since 8 o'clock.

1) has been working 2) had been working

3) isworking 4) was working
46-He's prevented from watching T.V before doing his
homework and.......

1)so havel 2)soam |

3) | have too 4) I'm not either
47- Rezathinks he can run asrapidly as| can, “Rapidly” is
the opposite of ............ .

1) simply 2) silently 3) slowly 4) steadily
48- Sarah wishes that she had someone who could ............. her
through the city.

1) invite 2) understand 3) guide 4) nigrate
49- Don’t you want to put on those brown shoes?

Yes, | dowant to........... , they are very beautiful.

1) put on it 2) put them on

3) put on them 4) put it on
50- Today many sportsmen and sports women.......... in the olympic
games.

1) practice 2) migrate

3) takepart 4) include
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